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# a=5, b=3 3k

a3-3a%b+3ab? —b3 = (5)3-3(5)%(3)+3(5)(3)?> =(3)*= 125 -225 + 135 -27 =8

R 28
o RBEXTIBE BRI
BlF
5x + 4(5x +3) = 5x + 20x + 12 = 25x + 12
o RERAEKEE—ERER
B+

3axb=3ab
43 -30b+-6=-2a/3+5b

2>
1 z2(z+y);x=6,y=8,2=6 2 Y -z,x="7,y="7
3 m+p-+5m=1p=>5 4 y+9-z;2=1,y=3
5 p’+mm=1,p=>5 6 a-5-b;a=10,b=4
! %+w;x:1,y:2 5 (y+z)-2+zr=Ly=1
9 z2-(y+3-1);y=3,2="7 10 y-(z+2°);y=10,2=2
11 p;m;m:4,p=7 12 6g+m-m;m=8,g=3
13 p’+10+m;m=9,p=3 14 z+y+y;z=9,y=10
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P (pt+g)-G-5yp=1g=1 | '° ' +3-yz=3,y=1
17 y-(4-z-y+2)z=3,y=2 18 (6-+h"-j)+2h=4,j=4
19 (a*-b)+6;0=>5,b=1 20 p-(9-(m+q))m=4,p=5,4=3
21 be 22 Yy
CXT-(7-G);G=4,b=8,c=5 §+m+4+z+y;m:7,y:2,z:4
23 | y-z+z2+62=3y=4,2=4 | # y+5+1+z+6;2=6,y=>5
25 _ad gy o 26 2x%-5
12k-h:h=2k=3 y= 2y
T Ll aba=1p=2c=0 | ¥ | EBREKYTXCEdR
P(—1,5)’ X ¢
29 | mprmarRdet2e=154p | 30 | B3P Toe=3l Hep ZHH, T
RER-2x, BAEMBHx=3 # Q=T Kp. q
ARIENBEZD?
31 3(h-1)+4(1-2h)= 32 3(m-n)-(m+n)=
33 (n-3)-2(3-n)= 34 3[2a-4(b-¢)]-2[5b-3(c-a)]
35 1-{1-[1-(1-2)-z]-z}-z 36 -2(5a+b)+5(2a-3b)
37 z_ z-3y 38 %(2m-3)+%(3-2x)
z-3y T
» 3(30-2)-2(20-1) + 2. 8
H p-2 p-1 42 1 1
6 2(2a-1)-4(1-2a)
43 2(h+1) 4+e 44 3(¢+1) 6-p
2eh ~ de g T 2p
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45 ntl 3+m 46 on+4 10-4n
5mn - 1bm — 4n ~ 8
47 m-n m-4 48 e-5 3+2e
mn ~ 4m e 9 —
49 1 2m-3 50 m m'+8
3m~ 6m® 6 18m —
51 oh -3 52 3 2h-5 _
3 15h 4 8h
> m om-4 >4 6p(p+2q)-(3p-q) =
3 6m
55 (2p-3q) -(2p*-¢*)= 56 3x(4y-1)-y(1-4y)=
57 (m-3n) -(m*+9n?)= 58 (3p-|-q)2-(p-3q)2:
59 (1-m) -3m(m-1)= 60 n(n-1)-(1-n) =
61 2(z-3) +3-22°= 62 (z-4) -8(2-z)=
63 6¢f-(2e-f) = o4 (2h-p) -2hp=
65 x2+y2'(2z'?/)2: o6 m*-1-(m-3n) =
o7 a*+b'-(a+b) = 68 (a-b) +ab=
69 (g;-yf—;py: 70 q’
4p’ ——— =
P+ P0) it +p)
7 Thk-3(1-hk)= 72 3-k  4+k
ko
73 4(y-2)-(1-2y) = 74 k 2-k _
4h h
75 (3h-2k)(4k-h)= 76 h+1 2-A
3 " 4h —
77 hk  kh-kw _ 78 6g-2pq = 8pg
k’ hw -4 " q+2
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79 p-4 3(1-2p) 80 (3p-1)(g-1)+(p+1)(g-2)=
p -
81 h(h+k)-(h+k)(h-k)= 82 3z(z+y)-(-z-2y) =
83 4-m m+6 84 k+1 2-k
m " 3m 5k~ k
85 t+4 3(1-2¢) 86 3 pF3_
2 - b = p P -
87 R+l k-2 88 h-3 1-h _
6 3 15~ 5
89 ﬁ_'_i_ 90 (5-2)(2-32)-2(z-4)=
2 T4~
91 4(ht2k)(3h-k)= 92 (4e-f)(2e-3f)=
93 3k(2-k)-5(2k-1)= 94 4(p-3)-3(1-2p)=
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